The 200-mm-radius disk rolls without sliding on the surface shown.
Knowing that the distance BG 1s 160 mm and that at the instant
shown the disk has an angular velocity of 8 rad/s counterclockwise
and an angular acceleration of 2 rad/s® clockwise, determine the
acceleration of A.
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A uniform rod of length L and mass m 1s supported as shown. If the
cable attached at end B suddenly breaks, determine (a) the accelera-

tion of end B, (b) the reaction at the pin support. SF=ma
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A uniform slender rod of length L = 36 in. and weight W = 4 b hangs
freely from a hinge at A. If a force P of magnitude 1.5 1b 1s applied at
B horizontally to the left (h = L), determine (a) the angular accelera-
tion of the rod, (») the components of the reaction at A.

Ray IAO( —T
[/\3 . — Rpx ) é/ﬂﬁ ’ﬂq
T (®A—T A 1
MR
— y—2
h
1S 1b )
L J"Ts
. &,
P




